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IN PURSUIT OF CRAFTY MATHEMATICS

Cushion Conglomeration Caper
(Long & Short Versions)

CCC was originally a project for, and by, the members of the Woolly Thoughts Yahoo group, as
an introduction to using the Woolly Thoughts methods. The plan was for a different member of
the group to add each new shape so that there was no predetermined pattern. Some might refer to
this as freeform but this was all using very precise geometric shapes. The only angles allowed in
the shapes were 45, 90 and 135 degrees.

The original plan broke down as some members wanted to work more quickly than others. Iadded
the remaining shapes myself so that everyone could work at their own speed. The basic instructions
for a new shape were revealed every two days but all help and advice files had to be accessed
separately so as not to spoil the fun for those working more slowly.

This file attempts to reproduce those original conditions.
Shapes 1 and 2 are described in detail on pages 2 and 3; the other shapes are listed, on pages 4

and 5, just as they were given to members. If you want to make the cushion without help, use only
pages 2 - 5.




Cushion Conglomeration Caper

(CCC)

General instructions

Choose any yarn and needles. Use approximately the same thickness of yarn throughout. Gauge
is unimportant.

Work in garter stitch.
The finished cushion will be 45 cm square (approximately 18”)

If you find yourself doing something different from the crowd, it will be your decision whether
you rip or improvise. The Caper is meant to be fun!!

Shape 1 - Starting Square
Draw a 7.5 cm square. Draw the diagonal. Time spent drawing is saved later as it is so much
quicker to measure with this template.

Cast on one stitch and increase until your triangle fits the template up to the diagonal line; then
decrease at the same rate. (The Woolly Thoughts way is to knit twice into the last stitch of the row,
when you are increasing, and to knit two together at the end of every row when you are decreasing.
That’s the easy way to teach the method but if you prefer to do the increases and decreases some
other way, that’s fine.)

Important note: Remember how many stitches you had on the needle, at the widest point, when
you reached the diagonal.

If you want to turn your conglomeration into a garment, make the starting square one-sixth
of the width you want that garment to be.




Shape 2

Instructions: Pick up the stitches along any one edge of your square and knit a triangle with the
right hand-side vertical (i.e. forming a continuous straight line with one side of the square) and
the other side sloping inwards at 45 degrees. These rows will be parallel to the side of your square.

« 7.5cm

7.5¢

A
You are creating shape 2.
15 Shape numbers are in red.
cm Measurements are black.
v

The number of stitches on the diagonal of the square must be divided by 1.4 to give the number
of stitches to pick up along the edge of the square. (This works because of Pythagoras Theorem).

Round to the nearest whole number.

Examples

Stitches on diagonal Divide by 1.4 Stitches to pick up

14
18
20
25

10
13
14
18

Knit straight on wrong side row; knit two together at the end of each right (public) side row.
Continue until all stitches are worked off.

The new triangle should be the same height as the first square.

Helpful note

When picking up stitches from diagonal ridges (e.g. the stitches along the edge of the square for
shape 2) you are basically picking up 7 stitches from every 5 ridges. It helps to have a system.

Here’s one that works well:

ridge ridge furrow ridge ridge furrow ridge




If you need more guidance go to page 6.

Shape 3 (Cynthia’s shape)
A parallelogram attached to the long side of the square and triangle ... It should continue the slope
of the triangle (so that’s a left-sloping parallelogram) .... It should be the same height as the square.

Shape 4

The new shape is to be attached to the sloping side on the right of the parallelogram you just made.
It is a triangle with a 90 degree angle at the corner where it just meets the starting square. The
other two angles are 45 degrees.

Shape 5 (Sharron’s shape)
I was thinking about a trapezium with the short side being along the original square and one side
on the latest triangle.

I added a further instruction to make sure we all get the same shape:
The trapezium will have two 135 degree angles and two 45 degree angles. The distance between
the square and the long edge parallel to it will be the same as the height of the square.

Shape 6
A trapezium with two 90 degree angles, one 45 degree angle and one 135 degree angle, to be
attached to Shapes 1 and 5, with its longest side parallel to the side of the square.

Shape 7
A triangle with a 45 degree angle at each side, on the long side of the trapezium you just made.

Shape 8

Pick up stitches from the lower (in relation to all the shapes knitted so far) side of Shape 7 and
knit a triangle with a 90 degree angle at the right-hand side and a 45 degree angle at the left (as
you are looking at the shape when you pick up the stitches).

Shape 9
Pick up stitches all along the straight edge formed by Shapes 7 and 8. Knit a triangle with a 45
degree angle at each side.

Shape 10
Pick up stitches on the left of Shape 9. Knit a triangle with a 45 degree angle at each side.

Shape 11
Pick up stitches on the lower side of Shape 10. Knit a triangle with a 45 degree angle at each side.

Shape 12

Pick up stitches from the edge of Shape 10 and knit a triangle with a 90 degree angle at its
right-hand side and a 45 degree angle at the left (as you are looking at the shape when you pick
up the stitches).

Shape 13
Knit a parallelogram, to join to Shapes 9 and 12. (There is more than one way to do this.)

Shape 14
Knit a parallelogram, to join to Shapes 6 and 13. (There is more than one way to do this.)




Shape 15
Knit a square so that one of its corners will fit between Shapes 2 and 14. (There is more than one
way to do this.)

Shape 16

This shape is a pentagon (It has 5 sides). It is not a regular pentagon (The 5 sides are not equal).
It is like a house standing on the point of its roof. The roof must fill the space between Shapes 3
and 15. The rest of the ‘house’ is the same height as the height of the roof. (There is more than
one way to do this.)

Shape 17

This shape is a hexagon (It has 6 sides). It is not a regular hexagon (The 6 sides are not equal).
You might call it a lozenge. Three of its sides fit to Shapes 14, 15 and 16. The second half of the
shape is a reflection of the first. (There is more than one way to do this.)

Shape 18
Pick up stitches from the top of Shape 16 and make a trapezium with a 90 degree angle at the right
and a 45 degree angle at the left. The height should be the same as your starting square.

Shape 19
A rectangle to fit along the sides of Shapes 13 and 17. (There is more than one way to do this.)

Shape 20
Pick up stitches from the top of Shape 19. Knit a triangle with a 90 degree angle at the left and a
45 degree angle at the right.

Shape 21
A trapezium with one 45 degree, one 135 degree and two 90 degree angles. It is to fit against

Shapes 17 and 20 and form the outer corner of the cushion, with Shape 20.

Shape 22
Fill in the space!

Done!!!

You should now have a 45 cm (18”) square. If you want to add a simple border all round, mitre
the corners with 45 degree angles.

Alternatively, continue adding in your own way.




Shape 3 (Cynthia’s shape)

Instructions: a parallelogram attached to the long side of the square and triangle ... It should
continue the slope of the triangle (so that’s a left-sloping parallelogram) .... It should be the same
height as the square.

You are creating shape 3

Pick up the same number of stitches, from the square, as you picked up for Shape
2. The height of Shape 2 is the same height as the square so pick up the same
number of stitches again.

You should be able to get one stitch from each ridge end but this
sometimes gets tricky at the point of the triangle. A little stretching

might be needed. If you do not get enough stitches your shapes 3 I5em
might start to pucker, and upset later calculations.

Special adjustment for thick yarns

If you have chosen a very thick yarn and are 2 v
unsure of the accuracy of your calculations, 7 5em
you can reduce rounding errors by doing

another calculation now: 7.5¢

¥

Take the number of stitches on the diagonal 1
of your square; double it; divide by 1.4 and
round to the nearest whole number. If this S .
answer is smaller than double the number

of stitches for Shape 2, use the smaller

number as your total to pick up now.

Shaping

Wrong side rows: decrease at the end of the row
Right side rows: increase at the end of the row

Each garter stitch ridge is the same height as one stitch. To make the parallelogram the same height
as the square, knit the same number of ridges as the number of stitches you picked up along the

edge of the square.

As we do not know what shapes will follow you have the option of keeping the stitches on a spare
needle or casting off instead of working the very last row.

Cynthia’s example

According to my calculations, because I had picked up 14 stitches along the top of the square (20
stitches on the diagonal divided by 1.4), I have to pick up 28 stitches




Shape 4

Instructions: The new shape is to be attached to the sloping side on the right of the parallelogram
you just made. It is a triangle with a 90 degree angle at the corner where it just meets the starting
square. The other two angles are 45 degrees.

You are creating Shape 4.

3 |5em
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7.5¢
Note

1 4 The diagram is in the same orientation
as the previous diagrams so you may
need to turn it upside down to match
the way you are working.

No calculations needed!

Shape 3 is the same height as Shape 1, therefore the sloping side of the parallelogram (Shape 3)
is exactly the same length as the diagonal of the square (Shape 1).

You know how many stitches you had on the diagonal of the square so that is the number of stitches
to pick up now.

Knit straight at the right hand side and knit two together at the end of every row where you want
the 45 degree angle to form.

You will notice that Shape 4 is a larger version of Shape 2. It slopes in the same direction. The
only difference is that the stitches were picked up from a longer side.




Shape 5 (Sharron’s shape)
This was Sharron’s suggestion : [ was thinking about a trapezium with the short side being along
the original square and one side on the latest triangle.

I have added a further instruction, to make sure we all get exactly the same shape : The trapezium
will have two 135 degree angles and two 45 degree angles. The distance between the square and
the long edge parallel to it will be the same as the height of the square.

You are making Shape 5. There are two ways it can be done.

Method I (The easier way)

Pick up the same number of stitches, from the edge of the square, as you picked up
for Shape 2. Increase at the end of every row. Continue until the number of garter
ridges is the same as the number of stitches you picked up.

Either cast off on the last row, or keep the stitches on a holder, in case
you need them later. 3

It is easiest to stitch the join between shapes 4 and 5, as the
pieces will not match ridge for ridge.

Method 2 - Stage 1

Pick up stitches from Shape 4. It is the same length as the
diagonal of the square so you will need the same number of
stitches.

b
LN

You need to form a 135 degree angle at the right-hand
side and 45 degrees at the left (Turn the drawing, if 5
necessary.)

To achieve this, decrease at the end of every
right side row and increase at the end of
every wrong side row.

To calculate the number of ridges to work to match the edge of the square:

The Mathematical Way The Visual Way

Divide the number of stitches needed for the = Imagine the two diagonals of Square 1. One of
side of the square by 1.4 and work that number  them would form a continuous line with the
of ridges. (You will notice that this is the same  edge of Shape 4. This diagonal cuts the other
as half the number of stitches on the diagonal  in half so the number of ridges you have to
of the square. If you have any inaccuracies, use ~ work is half the number you had on the diagonal.
the half-diagonal calculation)

Depending on your experience, and the orientation of your starting square you may be able to get
your increase stitches by picking up one on each ridge from the square. Otherwise, stitch the join
later.

Method 2 - Stage 2
Continue to decrease on right side rows. Knit straight on wrong side rows, until all stitches are
worked off.




Shape 6
A trapezium with two 90 degree angles, one 45 degree angle and one 135 degree angle, to be
attached to Shapes 1 and 5, with its longest side parallel to the side of the square.

You are making Shape 6. There are two ways it can be done.

This is very similar to Shape 5, except that it only slopes at one end.

Method 1 (The easier way)
Pick up the same number of stitches, from the edge of the square, as 3
you picked up for Shape 5. Increase at the end of every right side
row and knit straight on every wrong side row.

Knit the same number of ridges as for 2
Shape 5.

Either cast off on the last row, or keep the
stitches on a holder, in case you need them
later.

EN
LN

Note on increasing 5
The ridges in this shape exactly match the

ridges in Shape 5. As an alternative to your
normal increase you could pick up one
stitch from each ridge end of Shape 5.

Method 2 - Stage 1
Pick up stitches from Shape 5. It is the same length as the diagonal of the square so you will need
the same number of stitches.

Decrease at the end of every right side row and increase at the end of every wrong side row. Knit
the same number of ridges as you knitted for Stage 1 of Shape 5.

Depending on your experience, and the orientation of your starting square you may be able to get
you increase stitches by picking up one on each ridge from the square. Otherwise, stitch the join
later.

Method 2 - Stage 2
Decrease at the end of every row until all stitches are worked off.




Shape 7
A triangle with a 45 degree angle at each side, on the long side of the trapezium you just made.

You are making Shape 7.
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This shape is the same length as Shape 3. Pick up the same number of stitches and decrease at the
end of every row.

10




Shape 8
Pick up stitches from the lower (in relation to all the shapes knitted so far) side of Shape 7 and

knit a triangle with a 90 degree angle at the right-hand side and a 45 degree angle at the left (as
you are looking at the shape when you pick up the stitches).

You are making Shape 8.
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The side of the triangle is the same length as the diagonal of the starting square. Pick up the
number of stitches you had on the diagonal.

Decrease at the end of every right side row and knit straight on every wrong side row.

Notice that Shapes 7 and 8 are the same size but were made using different methods.

11




Shape 9
Pick up stitches all along the straight edge formed by Shapes 7 and 8. Knit a triangle with a 45
degree angle at each side.

You are making Shape 9.

Shapes 7 and 8 are both the length of the diagonal of the square, so you should pick up double the
number of stitches you had on your diagonal.

Decrease at the end of every row.

12




Shape 10
Pick up stitches on the left of Shape 9. Knit a triangle with a 45 degree angle at each side.

You are making Shape 10.
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You could calculate the number of stitches to pick up by dividing the number of stitches picked
up for Shape 9 by 1.4. This isn’t really necessary as Shape 10 is the same length as Shape 3 and
Shape 7 so you can just pick up that same number of stitches.

Decrease at the end of every row.

13




Shape 11
Pick up stitches on the lower side of Shape 10. Knit a triangle with a 45 degree angle at each side.

You are making Shape 11.
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11

Pick up the number of stitches you had on the diagonal of the starting square.

Decrease at the end of every row.

Shape 10 is half the area of Shape 9.
The dimensions of Shape 11 are half those of Shape 9.

14




Shape 12

Pick up stitches from the edge of Shape 10 and knit a triangle with a 90 degree angle at its
right-hand side and a 45 degree angle at the left (as you are looking at the shape when you pick
up the stitches).

You are making Shape 12.

10 7 1 4

11

The side of the triangle is the same length as the diagonal of the starting square. Pick up the
number of stitches you had on the diagonal.

Decrease at the end of every right side row and knit straight on every wrong side row.

This triangle is the same size as several you have made before.

15




Shape 13
Knit a parallelogram, to join to Shapes 9 and 12. (There is more than one way to do this.)

You are making Shape 13.

15

12 9 6
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This parallelogram is exactly the same as Shape 3. When you made Shape 3, there was only one
way to do it. Now you have a choice of methods.

Method 1 (As for Shape 3)
From Shape 9, pick up twice as many stitches as you picked up along the edge of the starting
square. Increase at the end of right side rows and decrease at the end of wrong side rows.

The number of garter ridges is the same as the number of stitches for the side of the starting square.

It is easiest to stitch the join with Shape 12.

Method 2
From Shape 12, pick up the number of stitches you had on the diagonal of the starting square.
Decrease at the end of right side rows and increase at the end of wrong side rows.

Note on increasing for Method 2
The ridges in this shape exactly match the ridges in Shape 9. Depending on your expertise, as an
alternative to your normal increase, you could pick up one stitch from each ridge end of Shape 9.

The number of ridges could be calculated. You can visualise it if you imagine rotating Shape 12
to fit on to Shape 13. The height is the same so the number of ridges must be the same. It must be
the same numbers as the number of stitches you had on the diagonal of the starting square.

16




Shape 14
Knit a parallelogram, to join to Shapes 6 and 13. (There is more than one way to do this.)

You are making Shape 14.

13 14 3

12 9 6

—

10 7

11

Method 1

From Shape 6, pick up the same number of stitches you picked up from the edge of the starting
square. Increase at the end of right side rows and decrease at the end of wrong side rows. Work
the same number of ridges as the number of stitches you picked up.

Method 2 (if you used Method 1 for the previous shape)
From Shape 13, pick up the number of stitches you had on the diagonal of the starting square.
Decrease at the end of right side rows and increase at the end of right side rows.

The number of ridges is half the number of stitches you picked up.

Method 3 (if you used Method 2 for the previous shape)

Continue on the same stitches and work half as many ridges as you had in Shape 13.

17




Shape 15
Knit a square so that one of its corners will fit between Shapes 2 and 14. (There is more than one
way to do this.)

You are making Shape 15.

It appears to be a very simple shape but there 1 5
are still several ways to approach it.

13 14 3

12 9 6
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Size
The side of this square is the same length as the diagonal of the starting square. Use this for
knitting a square with ridges parallel to its sides.

The diagonal of this square is, therefore, 1.4 times the length of its side. Alternatively, you might
see the diagonal as being twice the width of the starting square. Use this for a diagonally-knit
square.

Method 1 (Diagonally-knit)
Make a separate square similar to the starting square (but bigger). Stitch it into place between
Shapes 2 and 14

Method 2 (Diagonally-knit)

The ridges on Shape 2 will match ridge-for-ridge; the ridges on Shape 14 may match, depending
on the method used for Shape 14. If you have the expertise, you could make your increase stitches
by picking up from one, or both shapes.

Method 3 (Parallel)
Pick up the required number of stitches and knit the same number of ridges.

18




Shape 16

This shape is a pentagon (It has 5 sides). It is not a regular pentagon (The 5 sides are not equal).
1t is like a house standing on the point of its roof. The roof must fill the space between Shapes 3
and 15. The rest of the ‘house’ is the same height as the height of the roof. (There is more than
one way to do this.)

16

You are making Shape 16.

There are several ways to make it.

12 9 6
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Method I (Diagonally-knit)
Begin by using the same diagonally knit method you used for Shape 15. When you reach the
widest point, knit straight for the number of ridges that make the height of the starting square.

Other methods ... Next page
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Method 2 - Stage 1
From Shape 15, pick up the number of stitches you had on the diagonal of the starting square
(Depending on the method you used for Shape 15, you may already have these on the needle.)

Increase at the end of every right side row. Knit straight on every wrong side row. Continue until
you have half as many ridges as the number of stitches you picked up.

Method 2 - Stage 2
Continue to knit straight on wrong side rows. Decrease at the end of every right side row. Knit
the same number of ridges as you had in Stage 1.

Method 2 - Stage 3
Decrease at the end of every row.

It is easiest to stitch the join with Shape 3.

Method 3 - Stage 1
From Shape 3, pick up the number of stitches you had on the diagonal of the starting square.

Knit straight on every right side row. Increase at the end of every wrong side row. Continue until
you have half as many ridges as the number of stitches you picked up.

Method 3 - Stage 2
Continue to knit straight on right side rows. Decrease at the end of every wrong side row. Knit
the same number of ridges as you had in Stage 1.

Method 3 - Stage 3
Decrease at the end of every row.

Depending on your expertise, and the method used for Shape 15, you may be able to join as you
go. This is quite tricky. If in doubt stitch the shape to Shape 15.
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Shape 17

This shape is a hexagon (It has 6 sides). It is not a regular hexagon (The 6 sides are not equal).
You might call it a lozenge. Three of its sides fit to Shapes 14, 15 and 16. The second half of the
shape is a reflection of the first. (There is more than one way to do this.)

You are making Shape 17.

There are several ways to do it. 1 7 1 6

13 14 3

12 9 6
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Method 1 (The easy way!)

From Shape 15, pick up the number of stitches on the diagonal of the starting square. Increase at
the end of every row.

Continue until you have half as many ridges as the number of stitches you picked up, then
decrease at the end of every row for the same number of ridges.

You may be able to join to Shapes 14 and 16 as you go. Otherwise, stitch the joins.

Other methods ... Next page
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Method 2 - Stage 1
From Shape 14, pick up the number of stitches you had on the side of the starting square.

Knit straight on every right side row. Increase at the end of every wrong side row. Continue until
you have the same number of ridges as the number of stitches you picked up.

Method 2 - Stage 2
Decrease at the end of every right side row. Knit straight on every wrong side row. Continue until
you have the same number of ridges again.

Method 3 - Stage 1
From Shape 16, pick up the number of stitches you had on the side of the starting square.

Increase at the end of every right side row. Knit straight on every wrong side row. Continue until
you have the same number of ridges as the number of stitches you picked up.

Method 3 - Stage 2
Knit straight on every right side row. Decrease at the end of every wrong side row. Continue
until you have the same number of ridges again.
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Shape 18
Pick up stitches from the top of Shape 16 and make a trapezium with a 90 degree angle at the
right and a 45 degree angle at the left. The height should be the same as your starting square.

18

You are knitting Shape 18.

An easy shape!
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From Shape 16, pick up twice as many stitches as on the side of the starting square. (Depending
on the method used for Shape 16, you may already have these on a spare needle or be picking up
from a row of cast-off stitches.)

Decrease at the end of every right side row. Knit straight on every wrong side row. Knit the
same number of ridges as the number of stitches on the side of the starting square.
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Shape 19
A rectangle to fit along the sides of Shapes 13 and 17. (There is more than one way to do this.)

18

You are knitting Shape 19.

There are easy ways .... and a more devious way.
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Method 1 (An easy way!)
From Shape 13, pick up twice as many stitches as on the side of the starting square. Knit straight
until you have half as many ridges as the number of stitches you picked up.

Depending on the method used for Shape 13, you may have kept the stitches on a holder, or could
be picking up from a row of cast-off stitches.

It is probably easiest to stitch the join with Shape 17.

Other methods ... Next page
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Method 2 (An easy way!)
From Shape 17, pick up the same number of stitches as on the side of the starting square. Knit
straight until you have twice as many ridges as the number of stitches you picked up.

Depending on the method used for Shape 17, you may have kept the stitches on a holder, or could
be picking up from a row of cast-off stitches.

Depending on your expertise, and the method used for Shape 13, you may be able to join as you
go. If not, stitch the join.

Method 3
This method can be used to make a separate shape which is stitched in or, depending on what has
gone before, you may be able to join as you go.

The explanation is for a loose shape to be stitched in, and is described as though you are starting
at the point where Shapes 13, 14 and 17 join.

Method 3 - Stage 1

The corner is exactly the same as half of your starting square so you increase on every row until
you have the same number of stitches as on the diagonal of the square.

Method 3 - Stage 2
Continue to increase at the end of every right side row. Decrease at the end of every wrong side
row. Continue until you have the same number of ridges as in stage 1.

Method 3 - Stage 3
Decrease at the end of every row.
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Shape 20
Pick up stitches from the top of Shape 19. Knit a triangle with a 90 degree angle at the left and a
45 degree angle at the right.

18

You are making Shape 20.

2 O Easy!
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From Shape 19, pick up twice the number of stitches on the side of the starting square.

Knit straight on every right side row. Decrease on every wrong side row.
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Shape 21
A trapezium with one 45 degree, one 135 degree and two 90 degree angles. It is to fit against
Shapes 17 and 20 and form the outer corner of the cushion, with Shape 20.

2 1 You are making Shape 21. 1 8
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Methods ... Next page
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Method 1
From Shape 20, pick up twice as many stitches as on the diagonal of the starting square.

Decrease at the end of every right side row. Knit straight on every wrong side row. Continue until
you have half as may ridges as the number of stitches you picked up.

You may be able to join to Shape 17 as you go. If not, stitch the join.

Method 2 - Stage 1

From Shape 17, pick up the same number of stitches as on the diagonal of the starting square.
Knit straight for the same number of ridges as the number of stitches you picked up.

Method 2 - Stage 2
Knit straight on every right side row. Decrease at the end of every wrong side row.
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Shape 22
Fill in the space!

21 22 18
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Method 1 (The easy way)

From Shape 17 pick up the same number of stitches as on the side of the starting square. Knit the
same number of ridges, increasing at the end of every row.

Other methods ... Next page
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Method 2 - Stage 1
From Shape 21, pick up the same number of stitches as on the diagonal of the square. Decrease
at the end of every right side row. Increase at the end of every wrong side row.

Continue until you have half as many ridges as the number of stitches you picked up.

Method 2 - Stage 2
Continue to decrease at the end of every right side row. Knit straight on every wrong side row.

Method 3 - Stage 1
From Shape 18, pick up the same number of stitches as on the diagonal of the square. Increase at
the end of every right side row. Decrease at the end of every wrong side row.

Continue until you have half as many ridges as the number of stitches you picked up.

Method 2 - Stage 2
Continue to decrease at the end of every wrong side row. Knit straight on every right side row.

Done!!!

You should now have a 45 cm (18”) square. If you want to add a simple border all round, mitre
the corners with 45 degree angles.

Alternatively, continue adding in your own way.

More information ... Next page
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All the shapes fit on to a 6 by 6 grid. Every measurement (i.e. number of stitches or ridges)
is the length of a square or its diagonal, or a multiple of those measurements.

©Pat Ashforth and Steve Plummer

First published in 1998
This edition published 2018

by Woolly Thoughts™
166 Keighley Road, Colne, Lancashire, BB8 OPJ, England
woollythoughts.com

All rights reserved
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http://www.woollythoughts.com

You don’t have to make a cushion. You can use these techniques to create anything you
want.

This blanket was made by StressKnitters and DreamCatcher (Ravelry IDs)
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https://www.ravelry.com/people/StressKnitters
https://www.ravelry.com/people/DreamCatcher

